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7,000 050 +83! 551,950
Jl 190,423
Al 30,357
s 331,170
02 MBI 2HHSFHS(HAANS, XLHE) 665,000 0 665,000
O35 ZA0ts SAKE (LFHISES
He3) 7,000 *1,000& ~95&! 665,000
2SEI0ts M= X 196,800 133,080 63,720
= 157,440
Al 19,680
s 19,680
301 EtE NS 196,800 133,080 63,720
= 157,440
Al 19,680
[Ea 19,680
01 ARSI 2E AL S(SREXMH) 196,800 133,080 63,720
O=EsE=0ts THE+E XE
196,800,000 196,800
= 157,440




A HAIED
I OIS=XAY 2
s OlS=XIAbI AR S EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 19,680
= 19,680
Ots2E X2 AR K& 362,324 431,934 269,610
= 253,627
Al 108,697
301 LB F 362,324 431,934 A69,610
= 253,627
Al 108,697
01 AISIBE X LGS (2 LETME) 362,324 431,934 A69,610
OCIZMSEE(OtsSE L XIAHIE)
362,324,000 362,324
= 253,627
Al 108,697
SUAFR 2 4,977,539 4,582, 7% 394,745
Al 4,959,539
= 18,000
301 LPENZ 78,000 78,000 0
Al 60,000
[ 18,000
02 MBI 2EHH S (HUAHS, NSTHA) 78,000 60,000 18,000
S0t EEES
10,000,000 x6ZH *13| 60,000
Al 60,000
O&Y,F=4,0eolg /2
40,0003 *150Y *33| 18,000
307 2I2+01A 4,899,539 4,504,7A 394,745
Al 4,899,539
10 Al S XA EEHE2FHIE X 4,899,539 4,504,7A 394,745
Oo3dLsA 2Zd| XA
4,886,239,000& 4,886,239
Al 4,886,239
OSAA &8 =SXEE 13,300
O5E01&f SALA 300,000 *33F * 13| 9,900
Al 9,900
O3E014a SALA 200,000 x17F*13| 3,400
Al 3,400
SMNLANESAE 29 409,4% 409,1% 300
Al 409,49
307 2I2+01A 409,49 409,196 300
Al 409,49
10 Al S XAEEHE2IHIE X 409,49 409,196 300
OSULANESAE 29
409,196,000 409,19
Al 409,19




2A:

Ol&ot=0t

M OlIs=AAME =X
s OlS=XIAbI AR S EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSAH REE SXEUE
300,000 x12H 13 300
Al 300
Soltgdss 29 292,629 449,673 157,044
Al 292,629
307 @12t0| & 292,629 449,673 157,044
Al 292,629
10 Al SXAAEEHE 22X 292,629 449,673 157,044
OsdtHitgldgd 284l X3
291,729,000 291,729
Al 291,729
OSBAHAF SEEE SAEE 900
ObH0laf SAHAL 300,000& «3*13] 900
Al 900
gt Xa 10,800 10,410 390
Il 7,560
Al 3,240
301 EtE NS 5,400 2,310 3,090
Jl 3,780
Al 1,620
01 Al E2E A S(FREXM) 5,400 2,310 3,090
O=JI2t 2 1,400,000 1,400
2l 980
Al 420
og=ols K& 4,000,000 4,000
Jl 2,800
Al 1,200
307 gl2to| & 5,400 8,100 A2,700
Jl 3,780
Al 1,620
10 Al SXAEEE 22X 5,400 8,100 A2,700
oggtlE X 5,400,000& 5,400
Jl 3,780
Al 1,620
A0t 2=sE 100,800 98,162 2,638
Jl 70,560
Al 30,240
301 EtE N = 100,800 98,162 2,638
) 70,560
Al 30,240
01 Al EE A S (2 RNEXMA) 100,800 98,162 2,638
ogdlts ds+e
200,000 x42H 122 100,800




2A:

X XH -
o=

Ol&ot=0t
OrsS=E XA =&

s OlS=XIAbI AR S EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 70,560
Al 30,240
2Ataiots 220l A& 6.000 0 6.000
= 4,200
Al 1,800
301 EtE NS 6,000 0 6,000
= 4,200
Al 1,800
01 Al EEHS(FRDEXMH) 6,000 0 6,000
OYLTHAOIS 58| X2
6,000,000 6,000
= 4,200
Al 1,800
ors=g XI& 13,116,000 13,907,678 AT791,678
= 10,492,800
Al 1,311,600
T 1,311,600
301 LEIE NS 13,116,000 13,907,678 AT791,678
= 10,492,800
Al 1,311,600
o 1,311,600
01 Al 2E AT S(SREXME) 13,116,000 13,907,678 AT791,678
oots=¢ A& 13, 116,000,000 13,116,000
= 10,492,800
Al 1,311,600
o 1,311,600
ols=g =24 A& 1,574 1,574 0
= 1,102
Al 236
o 236
201 fer=2 3| 1,574 1,574 0
= 1,102
Al 236
[Ea 236
01 AtR2te|HI 1,102 1,102 0
OZE2= M 1,102,000& 1,102
= 772
Al 165
= 165
02 S3=gl 472 472 0
o%RH & ENR= 472,000 472
= 330
Al 7




D EIEDL

Ots= XA —’T‘—&

Ors=E X AHIA 23} EER=E)
SA - B CRI(S]) - NISAY - BES A HIm=S2t
| 2 71
J2HIN(OEE) 29| 150,930 153,975 A3,045
= 51,488
Al 89,057
i 10,385
307 QI2Hol ™ 150,930 143,975 6,955
= 51,488
Al 89,057
= 10,385
10 Al =S XA LB E2FHIE 150,930 143,975 6,955
ORHI| 294l X 128,720,000& 128,720
= 51,488
Al 77,232
O0ZED| 2% FIHX
10,070,000 10,070
Al 5,205
= 4,865
OIO=FHI| SAHA = 11,040,000 11,040
Al 5,520
= 5,520
OSAtL AEE = 1,100
O5E0|& SAHA 300,000& *3F *13] 900
Al 900
O3E01&f SALL 200,000 18 *13] 200
Al 200
Ol==0I1H &4l & 2tel 10,100 10,100 0
201 L2 AY| 5,100 5,100
01 AtR2teld| 4,200 4,200
O0IE2=0IH AME &X
4,200,000& 4,200
02 324l 900 900 0
OO0I=2=0IH ZXZSHHAEE It
900,000 900
401 AlEHIZ 200 5,000 5,000
01 Al&HI 5,000 5,000
OO0==0IH Ald ud & &l
5,000,000& 5,000
FAEXSO0tS KX 3,100 0 3,100
= 2,170
Al 930
307 QIZ2t01 A 3,100 0 3,100
= 2,170
Al 930
11 AR SXAMEER 3,100 0 3,100




AT HEIED
I OIS=XAY 2
el Ols=XIAMBI A3t (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZAHOIS TMHEXE ALY
3,100,000& 3,100
= 2,170
Al 930
Olsa et Al &4 50,000 50,000
201 et 3| 5,000 5,000
01 At 22|l 5,000 5,000
OOtSEIStE=Al e =8 L S
5,000,000 5,000
207 ARl 45,000 45,000
01 H1ESHI 45,000 45,000
OOISESIEAl HAEAH|
45,000,000& 45,000
OlSEaAtY =8 941,472 887,119 54,353
= 161,282
Al 389,510
o 400,680
OlsE2sAHlA 238t 941,472 887,119 54,353
= 151,282
Al 389,510
Ea 400,680
OtSsit OIZAIE =& 6,000 6,000
201 er23| 6,000 6,000
01 AtR2t2|HI 6,000 6,000
OOtssf ol AHel & WS 23|
4,000,000 4,000
ootssth Mg E2== M
2,000,000& 2,000
Ol=sESdERIANMNY 2 30,000 30,000 0
= 24,000
Al 3,000
T 3,000
201 el 14,500 14,500 0
= 11,600
Al 1,450
o 1,450
01 At22t2l] 12,700 12,700 0
oSSR 2|
12,700,000 12,700
= 10,160
Al 1,270
s 1,270
2 S5=2g4l 1,800 1,800 0




SN OIEIIED
M OlsE23AY F&A
&R OlsE2EsAMdlA 235t (CHol: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OUISESHERE SEFUE 2=
1,800,000& 1,800
= 1,440
Al 180
= 180
301 LPENS 11,000 11,000 0
= 8,800
Al 1,100
= 1,100
01 Al B&X 2 Z2(2REETR) 11,000 11,000 0
OEs0ls gy 29
11,000,000 11,000
= 8,800
Al 1,100
= 1,100
307 212+01 A 4,500 4,500 0
= 3,600
Al 450
= 450
01 9= 7ZH| 4,500 4,500 0
250t 2=l 4,500,000 4,500
= 3,600
Al 450
= 450
L2EAHIIEMO & JtEREOtS K2 587,990 565,800 22,190
Al 293,625
= 294,365
301 LPBNZ 587,990 565,800 22,190
Al 293,625
= 294,365
02 NS EZASHS(HUAS, XLTHA) 587,990 565,800 22,190
OY=EEXL3 300,000 *60H « 122 216,000
Al 140,400
o 75,600
O L A3 | 6,150
Ox Sty 100,000 * 15 *13| 1,500
Al 1,050
= 450
Ozt 150,000& *11H*13] 1,650
Al 1,155
o 495
OLSsHM 200,000 x15F *13] 3,000
Al 2,100




SN OIEIIED
HE: Ol sSESAIY =&
E: OlsE2sMdlA 235 (CHol: &S1)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
= 900
Ost&EE x| 60,840
Ox=sSsM 100,0002x 15 % 123] 18,000
Al 9,000
= 9,000
(@FS=1 120,000& 112 %123 15,840
Al 7,920
= 7,920
OssM 150,000& 15 x 123 27,000
Al 13,500
= 13,500
OUHEH &S| 5,000,000&*3H*13| 15,000
Al 10,500
= 4,500
OBSE=0Is AEHEE=
8,000,000& *35H x 13 280,000
Al 98,000
= 182,000
O0I=EZ F|
1,000,000& #4213 & 4,000
Al 4,000
ONE0IEs E=H|
1,000,000& #2012 %33| 6,000
Al 6,000
MEIEPE M20lsESHl K& 36,000 0 36,000
= 25,200
Al 10,800
301 LEtEAZ 36,000 0 36,000
= 25,200
Al 10,800
01 AIBIE & A& LG 2(2DEXTHEH) 36,000 0 36,000
OFIIE/AE M20IsESH| A&
1,000,000 x3H x 12& 36,000
= 25,200
Al 10,800
FI10ts JIEES M20tsESH| AIJA 4,500 9,000 A4,500
= 3,150
Al 1,350
301 LEtEAZ 4,500 9,000 A4,500
= 3,150
Al 1,350
01 AIBI 2R A& 251 2(2DEXTE) 4,500 9,000 A4,500
O%fID|0t=E JIAES M20IsEsH| XL
4,500,000& 4,500




S HEIED
HY: OlSEBAIY XX
cl: OlSESAHIA 235t (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 3,150
Al 1,350
Stiilol OtS Ot0lE=SABIA X 16,880 11,245 5,635
301 EtE N = 16,880 11,245 5,635
02 A2 A6 (FHAAS, NLWE) 16,880 0 16,880
OStIIISH OIS Ol0ISEAHIA xR
16,880,000 16,880
OlSSIU AL =H:E &l etAIXA 1,000 10,000 /9,000
201 =3 1,000 0 1,000
2 S22l 1,000 0 1,000
OotsS A =55 R4l 24|
1,000,000 1,000
fII0ts JHEES Ots83+24| X 1,000 1,000 0
= 700
Al 300
301 LEtE N = 1,000 1,000 0
= 700
Al 300
01 Al EE A S(FRDEXA) 1,000 1,000 0
O917/0tS =5 OlSBEPUL X
1,000,000 x1&*13] 1,000
= 700
Al 300
2 IHERAE0IS delxlz K& 4,800 8,800 24,000
= 3,360
Al 720
o 720
301 2eEN= 4,800 8,800 24,000
= 3,360
Al 720
e 720
01 MBI EHAH2(2DEEUS) 4,800 8,800 4,000
0Lt - IIHSIEOIE MRAXIE X
200,000& x2E12& 4,800
= 3,360
Al 720
i 720
stiuloliotsas =9 253,302 245,274 8,028
= 94,872
Al 79,715
o 78,715
307 @120l & 253,302 245,274 8,028
= 94,872
Al 79,715




S HEIED
HY: OlSEBAIY XX
cl: OlSESAHIA 235t (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 78,715
10 Al SXAZEE 22X 253,302 245,274 8,028
OdfiiIotsdEH 238l A&
237,182,000 237,182
= 94,872
Al 71,155
Ea 71,185
OZAL =& 15,120,000& 15,120
Al 7,560
o 7,560
OSAH XEE SXEUE 1,000
O3H0I&SAHAL 1,000,000 1,000
Al 1,000
CEHAREMY =& 4,129,890 3,146,900 982,990
= 1,460,493
Il 233,856
Al 1,254,891
s 1,180,650
CHAREAME 253,560 231,160 22,400
= 202,848
Al 25,356
o 25,35
FHS OlsSEAMHIA XIH 253,560 231,160 22,400
= 202,848
Al 25,356
o 25,356
201 fer23| 97,460 57,702 39,758
= 77,968
Al 9,746
= 9,746
01 At2teltl 33,118 30,102 3,016
oget=ZHI 13,928
OdIE (20H4) J1=223HI
8,428,000& 8,428
= 6,742
Al 843
= 843
Osl+=2 M= 1,500,000& 1,500
= 1,200
Al 150
= 150
O2AKl M 4,000,000 12 4,000
= 3,200




2A:
PSER
o e

el

(2Pl =)
EYAEEM
CEEAEEAM

[Pl

i

H
=
H
=

SA - FE - SRA(3H) - MRAE - BES

Ofl &F2H

HMEE
Ofl &k2h

O

©
H0
H0 0R

O#IHHI0INM &2

O
Jo
z
S

®
04
1
S

O3J1&837|

150,000& »7 12

OOtES=ADI2E N S8+

70,0003 * 13 *42]

150,000& » 12 %42

110,000 »2CH = 123

50,000 =20 * 122

35,000 =20 =122

OOt=SEAtdIZCIAL BFHI(3H)

500,000 x5H

8,000&+7& 102/« 122

A8 SX2eld

600,000

Al

HJ

W

H

H

H

H

M= W M= W H

H = W M= W

H = W

400
400
5,290

1,050
840
105
105

3,640
2,912
364
364

600

4,680
2,640
2,112
264
264
1,200
960
120
120
840
672

2,500
2,000
250
250

6,720
5,376
672
672
600
600

600

600




FA 8IS
HY: CUAEEAY ZZ
&Rl EEHAEBEAG (SH &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
= 480
Al 60
s 60
03 A2 I 63,742 27,000 36,742
OtNAZ E2H 2 3,000,000 3,000
= 2,400
Al 300
s 300
OZMdES T2 24 6,000,000 6,000
= 4,800
Al 600
o 600
OQXAN E2H 2 3,000,000 3,000
= 2,400
Al 300
2 300
29J1E D20y 29
51,742,000 51,742
= 41,394
Al 5,174
s 5,174
202 04| 7,000 2,500 4,500
= 5,600
Al 700
s 700
01 2LHA b 2,500 2,500 0
OOISSEARIB2IAF DE0IHI(32)
2,500,000 2,500
= 2,000
Al 250
o 250
04 =XI=tod] 4,500 0 4,500
OOtSSEAtIZ2lAl oS =
4,500,000 4,500
= 3,600
Al 450
s 450
301 2eEN= 119,500 144,558 N25,058
= 95,600
Al 11,950
s 11,950
01 Al EE A S(FRNEXM) 105,100 130,058 N24,958
Ootsal2IXIZE (20, =01,012 )
27,000,000 27,000




AT HEIED
M CEAREAY A
&Rl EEHAEBEAG (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 21,600
Al 2,700
2 2,700
ONEAETR (AL 2 5)
3,000,000& 3,000
= 2,400
Al 300
s 300
OSHEGAH ZT28 K&
30,000,000& 30,000
= 24,000
Al 3,000
o 3,000
ostsa1AM X 7,000,000 7,000
= 5,600
Al 700
[ 700
odg=ol T2 25,0002 400 10,000
= 8,000
Al 1,000
o 1,000
og=stsk & T2
21,900,000 21,900
= 17,520
Al 2,190
[Ea 2,190
OgR0t SELE 2™
6,200,000& 6,200
= 4,960
Al 620
Ea 620
11 dALEEIXIZE S 2,000 2,000 0
oOZ20Y HAXH(0IS,I1=) AHI2Y
2,000,000& 2,000
= 1,600
Al 200
s 200
14 IIEt2 83 12,400 8,000 4,400
Olts==, SsUEd A 4|24
12,400,000 12,400
= 9,920
Al 1,240
= 1,240
307 el2to| & 29,600 26,400 3,200
= 23,680




AT HEIED
HY: CUAEEAY ZZ
Rl SEAEEAMG EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 2,960
s 2,960
01 22X S| 29,600 26,400 3,200
OATIIE H2BAMNHIA SE|
60,0003 +60 3,600
= 2,880
Al 360
T 360
OAYT U ol24| X
23,800,000& 23,800
= 19,040
Al 2,380
= 2,380
ongEEH N 2,200,000& 2,200
= 1,760
Al 220
s 220
NAsSs SsSAdlA ZEt 3,876,330 2,915,740 960,590
= 1,257,645
7l 233,8%
Al 1,229,535
o 1,155,294
NS 0tSHE 29Hl XA 2,074,668 1,671,760 402,908
= 778,644
Al 844,604
Ea 451,420
307 el2to| & 2,056,668 1,653,760 402,908
= 778,644
Al 844,604
= 433,420
10 Al SXAAIEEHE 22X 2,020,668 1,617,760 402,908
OXHOtSHIE 1,933,048
O=2gHl K& (180H2) 1,557,288,000& 1,557,288
= 778,644
Al 778,644
OSAHG wSH| 100,000 37 & 12& 44,400
OSAHAF A&
40,0002 «37H*12& 17,760
OB AHAF F=0to1244|
100,000 37 E* 122 44,400
OSAHL SE SO 200,000& *37H 7,400
OSAHL 3125+
40,0003 »26H « 128 12,480
OO0ts2HAIHI (18012 ) 48,000,000& 48,000




AT HEIED
HY: CUAAEEAY EZ
ol XEsSs SsSAlA Het EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O0ts=s=<0l 124l K&
770,000 x18H* 122 166,320
OB ARt B+0=(37Y) 5,000,000& 5,000
OHSIEZAI (18004 ) 30,000,000& 30,000
OXISOtSHIE! SALA MRIHAH]
130,000& 37 &+ 12& 57,720
Al 28,860
= 28,860
OSBAHAF HEE SAEUE 8,300
O5401a SAHR 300,000& *27H 8,100
Al 8,100
O3H0laf SAHAL 200,000& %1 200
Al 200
0332 FIHIE
100,000 x18H A% 123 21,600
Al 10,800
o 10,800
11 ARRIS XA E X 36,000 36,000 0
OXIS0otsHIE =208 AMZH
2,000,000 1874 2~ 36,000
Al 18,000
s 18,000
402 QI2F X201 & 18,000 18,000
01 QI X2 AL E A (KM TH) 18,000 18,000
OXS0tsHIE ZHIH ¥ wiHw-H]
1,000,000 * 189K 2 18,000
EQEY NF0tSHE =0 21,888 21,888 0
= 10,944
Al 10,944
307 212+01& 21,888 21,888 0
= 10,944
Al 10,944
10 Al SXAEEHE2EHI2x 21,888 21,888 0
OER2Y XF0tsHE FIHAA
304,000 6+ 123 21,888
= 10,944
Al 10,944
S22 NH0tsdH FIHI 29,232 29,232 0
= 14,616
Al 14,616
307 212+01& 29,232 29,232 0
= 14,616
Al 14,616
10 Al SXAEEHE2EHI 22X 29,232 29,232 0




2A:

X XH -
o=

Ol&ot=0t

EYAREAMY F&

ol XEsSs SsSAlA Het EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OS+2H8 NASHEH =Iix e
609,000 *4H ~+ 123 29,232
= 14,616
Al 14,616
NS0ISHE 2ZHe X3 20,000 0 20,000
= 10,000
Al 5,000
[Ea 5,000
402 2IZtA=01d 20,000 0 20,000
= 10,000
Al 5,000
= 5,000
02 QI X2 AL EE(0IETHE) 20,000 0 20,000
OXSotsHE e X3
20,000,000& 20,000
= 10,000
Al 5,000
= 5,000
NSotsSHE S48 XA 806,400 806,400 0
) 233,856
Al 88,704
s 483,840
307 glztol & 806,400 806,400 0
Jl 233,856
Al 88,704
[Ea 483,840
e NEEEEETEES 806,400 806,400 0
ONHOISHE OFEZAHI TR
806,400,000 806,400
Il 233,856
Al 88,704
o 483,840
OlsSSXI WAL X 179,666 0 179,666
= 87,333
Al 87,333
o 5,000
101 e124d| 179,666 0 179,666
= 87,333
Al 87,333
o 5,000
04 JIZtN2 2N S 2+ 179,666 0 179,666
OJIZtMZ2Z2 XS 2==(10Y)
179,666,000 179,666
= 87,333




AT HEIED
Hu: CRIAEEAY =X
ol XEsSs SsSAlA Het EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 87,333
s 5,000
Cati SsS4E 212d] X 551,976 338,360 213,616
= 262,108
Al 146,334
= 143,534
307 lztol & 551,976 338,360 213,616
= 262,108
Al 146,334
o 143,534
10 Al2ISTIAIEEE2HIE X 551,976 338,360 213,616
OCHE N SSHIE AAHI(8HA, 16H)
524,216,000 524,216
= 262,108
Al 131,054
o 131,054
otEgN SsdE MIHAHI
130,000 x 16« 12& 24,960
Al 12,480
= 12,480
OUIaH =sS4H SAHAISAIEIE
2,800,000& 2,800
Al 2,800
Cietil SsdH 238 X8 120,000 45,600 74,400
= 44,000
Al 22,000
= 54,000
307 elzto| & 120,000 45,600 74,400
= 44,000
Al 22,000
Ea 54,000
10 AlRISTIAIEEE 22X 120,000 45,600 74,400
otgnssdH 23l 88,000,000 88,000
= 44,000
Al 22,000
o 22,000
OUEN SSHE T2 3|
4,000,000 *8IH 2~ 32,000
Catn SsS4dE £Xd K& 70,000 0 70,000
= 50,000
Al 10,000
s 10,000
401 Al HIZL 201 50,000 0 50,000
= 30,000




AT HEIED
HY: CUAAEEAY EZ
ol XEsSs SsSAlA Het EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 10,000
s 10,000
01 Al&H| 50,000 0 50,000
oUEHS=HE 2R
50,000,000 *1IH 2 50,000
= 30,000
Al 10,000
= 10,000
402 2IF X201 ™ 20,000 0 20,000
= 20,000
02 QI EASEX(0IETHR) 20,000 0 20,000
otgNESsdE HHILXIH
20,000,000 *10H 2~ 20,000
= 20,000
gt =sSAHIA 2dal 2,500 2,500
201 =3 2,500 2,500
01 Al 22IH| 2,500 2,500
OYE SBAHIA BT
2,500,000& 2,500
HH2LZHI(HLII=ED) 986,708 903,382 83,326
= 376,328
Al 121,168
Ea 489,212
ol (M EIE) 872,007 787,55 84,451
= 376,328
Al 121,168
= 374,511
elH2AHI(0Eot=E) 172,987 170,221 2,766
101 @124H| 172,987 170,221 2,766
01 &2 172,987 170,221 2,766
OAIZRAZR4E
12,3213 #45A| 2H+26H 123 172,987
QIA2AHI(OtSESHY A 21A]) 151,216 107,327 43,889
= 109,051
Al 13,631
Ea 28,534
101 @12A4H| 146,333 104,282 42,051
= 109,051
Al 13,631
= 23,651
02 JIEtAE = 103,373 64,032 39,341
OAIZHIE R DIN Ol 148((3H)
2,871,4723 38« 1228 103,373
= 82,699




AT HEIED
M HYRAZHI(HLEIEL)
CHel: QIEA2AHI(0I A IS0 (S &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 10,337
s 10,337
03 SRH(RINAHA) 222+ 42,960 40,250 2,710
Oots=E2sdg R 21HI(1Y)
3,580,000 «1H =122 42,960
= 26,352
Al 3,294
= 13,314
204 AR A 4,883 3,045 1,838
02 Mzl 4,883 3,045 1,838
OAIZHIHLIIA 012 =22 (2)
135,620 3+ 12 4,883
el HH|(OtSSE At 22l AL 2124H]) 349,120 306,740 42,380
= 182,560
Al 22,820
o 143,740
101 21AH| 349,120 306,740 42,380
= 182,560
Al 22,820
[Ea 143,740
REEEIESPTOEES RS 39,120 306,740 42,380
OOISSBAIAIZ2IAL Q121 (72)
349,120,000 349,120
= 182,560
Al 22,820
o 143,740
A 2HHI (LSS XILAL 124H]) 198,684 203,268 A4,584
= 84,717
Al 84,717
= 29,250
101 @124H| 189,372 194,532 25,160
= 84,717
Al 84,717
s 19,938
02 JIEtx 2= 148,852 168,000 N9,148
OOtS= X WAL AIZHEERRIZIIN Ot A
H|(8m) 148,852,000 148,852
= 71,044
Al 71,044
= 6,764
03 SR (RINAHA) 222+ 40,520 36,532 3,988
OXISALRISXIAF QIAHI(12)
40,520,000 40,520
= 13,673




SN OEIIED
M HYRAZHI(HLEIEL)
Cel: A2 HHI(K IS (CHe: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 13,673
s 13,174
204 APt AH| 9,312 8,736 576
02 Ma2xH| 9,312 8,736 576
OOIS=XI WA AIZHIE RO IAI OH=(82)
9,312,000& 9,312
[2ZHI(HAIE=ED 114,701 115,826 A1,125
Jl2ZHI(6Eo=E) 114,701 115,826 A1,125
201 =3 44,381 45,506 A1,125
01 At22t2l] 44,381 45,506 AT1,125
oget=ZH| 10,685
OSAna=d 10,685,000& 10,685
O=EH| 8,000 x27 H*134!x 12 33,6%
202 048l 64,800 64,800
01 2L A b 64,800 64,800
OZ2LH 048I 200,000 x27 H =122 64,800
203 SR =L 5,520 5,520
M FA2HLRFEI 5,520 5,520
OR NSRRI 460,000 « 122 5,520




